Ve AL R
Y | SR A B R e

2023 4£9 B
SERUSERT

SHNAVERORRIR > BAERFETI Ea e

,
BgE

. 55
A 5 A5 e B B R A
SAYERTECEGS - DU ESE - a0 R R E A TR R 22
Il ERIEEERAER
V5 e e PR A I 55 A E AR JH e AR 2 R BERUE . » N aeA DUEAE R - BltE
{EVEAE ~ AF ~ BEFIBF BB R ARS8 SEFH VS T o VB IRE P BR 22 0 TfEfRa%
MiZE B E » WA S IRIEIEAE -
AR E R B B SEAREE N 240 o MRORIRE SO HPRZE R 5 2 e i A
B4 o Ioh - B RIE T B4 B BV 5 R 240 (W R RN S s8R vl ge IR A s

A
K
HSHHENR > (FEHEE L5 EE(LE -
202319 » ={EME(LIEAE - AFRIBRH{EEED -
SRR RPN R TR SEEY MR o FrAdHECsk A a2 n Ehapr iR (A B
> A BRI REEH B B2 R R S T E B SR e E TR

SR AERRATE B RAR e A R A% EE

[REAVEHRIZE -



Ve AL R

ERRAEEERE
202349 H
JEB AE
S HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.004 - 0.048 0.011 =
LA M 1512 0.030 - 0.711 0.120 =
/L% (HCI) 4.545 0.032 - 0.196 0.129 2
SFAEE (HF) 0.306 0.000 - 0.067 0.021 =
— /BT (SO2) 15.147 0.041 - 8.525 2.785 =2
—& (L% (CO) 7.578 0.004 - 1.757 0.074 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.577 - 7.844 2.195 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.008 - 0.016 0.011 =
SN 0.756 0.084 - 0.181 0.120 =
/L& (HCI) 0.756 0.087 - 0.178 0.129 =
LS (HF) 0.072 0.001 - 0.052 0.022 =
—&dEHR (SO2) 3.789 2.410 - 3.175 2.784 2
—&{Ef% (CO) 3.789 0.047 - 0.099 0.074 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 1.033 - 4.371 2.193 =
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
g I Ry ki) 7.575 x 10 <6.305x 10 =
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.004 - 0.094 0.009 =
LA M 1.512 0.009 - 0.600 0.086 =
/L% (HCI) 4.545 0.045 - 0.231 0.119 2
SFAEE (HF) 0.306 0.001 - 0.065 0.023 =
—ZMEWT (SO2) 15.147 0.623 - 7.704 2.543 H
—& (L% (CO) 7.578 0.002 - 0.150 0.036 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.508 - 7.671 1.518 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.006 - 0.011 0.009 =
SN 0.756 0.030 - 0.149 0.086 =
/L& (HCI) 0.756 0.080 - 0.201 0.121 =
LS (HF) 0.072 0.015 - 0.042 0.023 =
—21EHi (SO2) 3.789 2.324 - 2.744 2.540 =
—&{Ef% (CO) 3.789 0.011 - 0.084 0.035 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 0.985 - 2.715 1.503 2
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
T Ry g ) 7.575 x 10 <6.040 x 10 =
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NEFEE(BFEENENARER)
Feckir ™ 2277 0.003 - 0.040 0.005 =
4 1512 0.030 - 0.899 0.116 2
/L% (HCI) 4.545 0.098 - 0.231 0.150 2
SFAEE (HF) 0.306 0.012 - 0.069 0.031 =
—ZMEWT (SO2) 15.147 0.146 - 5.194 2.584 H
—& (L% (CO) 7.578 0.000 - 0.104 0.029 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 1.015 - 11.166 3.296 =
EFE
(b) | FrEEH - HISE (HREHIRENLARERE)
AR 0.756 0.004 - 0.009 0.005 =
SN 0.756 0.041 - 0.206 0.116 =
/L& (HCI) 0.756 0.127 - 0.206 0.150 2
LS (HF) 0.072 0.024 - 0.048 0.031 =
—&dEHR (SO2) 3.789 1.964 - 2.897 2.584 2
—&{Ef% (CO) 3.789 0.011 - 0.057 0.029 =
FHAY (NOx)
DI=&AEE, (NOy) 15.147 2.004 - 4.580 3.299 =
SHE
S8 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
g I Ry ki) 7.575 x 10 <5.400 x 10 =
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